Algebra 1 54

Solve compound inequalities (and/or)
Graph solution sets of compound
inequalities

inequality
greater than _ _
less than ® To ride certain roller coasters, you must be at least
Venn diagram 52 inches tall, and your height cannot exceed

|

: _ 72 inches. presents the height of a rider,
£ intersection G '\d we can write two inequalities fo represent this. |
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triangle puzzles



Whiteboards
Solve each compound inequality. Then graph the solution set.

3A. a+1<4o0ora—1=3 3B. x<9%o0r2+4x <10




Practice: solve & graph

2X+6>18

3x-1>5 or 2x+2<-4

4<2x-6<18



3x+7<16 and 2x-1>-15

or
-2x-3<5 =t -3x+1>10
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Triangle puzzle



3(X+5) 2 2x+10




